Journal for Geometry and Graphics Volume 24 (2020), No. 2, 249–255

On CR-Structures and the General Quadratic Structure

Mohammad Nazrul Islam Khan¹, Lovejoy S. Das²

¹Department of Computer Engineering, College of Computer Qassim University, P.O. Box 6688 Buraydah, 51452, Saudi Arabia m.nazrul@qu.edu.sa, mnazrul@rediffmail.com

²Department of Mathematics, Kent State University Tuscarawas Campus, New Philadelphia, Ohio 44663, USA Idas@kent.edu

Abstract. The object of the present paper is to determine the relationship between CR-structure and the general quadratic structure and find some basic results. We discuss integrability conditions and prove certain theorems on CRstructure and the general quadratic structure.

Key Words: CR-structure, general quadratic structure, almost complex structure, Nijenhuis tensor, integrability

MSC 2020: 53C55

1 Introduction

The theory of the tangent bundle of submanifolds is an interesting topic in the differential geometry. There are three types of submanifolds concerning the almost complex structure of the ambient manifold, namely, given as holomorphic submanifolds, totally real submanifolds, and CR-(Cauchy-Riemannian) submanifolds. Bejancu [2] has studied CR-submanifold of a Kählerian manifold in which a new class of submanifolds of the complex manifold was initiated. Bejancu has introduced the concept of CR-submanifold and gave its basic properties. Numerous investigators made valuable contributions to CR-submanifolds including Bejancu [1], Blair and Chen [3], Chen [4], Dragomir at el [6] and Yao and Kon [9]. In this paper, we study the integrability conditions and Nijenhuis tensor on CR-structures and the general quadratic structure.

Let us consider the general quadratic equation $x^2 + \alpha x + \beta = 0$, α , β are integers. The set of solutions denoted by $x = \frac{1}{2}(-\alpha \pm \sqrt{\alpha^2 - 4\beta})$. In *n*-dimensional manifold M, suppose a tensor field $F(\neq 0)$ of the type (1, 1) and of class C^{∞} on M such that

$$F^2 + \alpha F + \beta I = 0 \tag{1}$$

such structure on M is called the general quadratic structure of rank r. If the rank of F is constant and r = r(F), then M is called the general quadratic manifold.

Let us introduce the operators as follows

$$l = -\frac{F^2 + \alpha F}{\beta}, \quad m = I + \frac{F^2 + \alpha F}{\beta} \tag{2}$$

where I denotes the identity operator on M.

Proposition 1.1. Let M be the general quadratic manifold. Then

$$l + m = I, \quad l^2 = l, \quad and \quad m^2 = m.$$
 (3)

Proof. In the view of Equation (2), the proof is trivial.

For $F \neq 0$ satisfying Equation (1), there exist complementary distributions D_l and D_m corresponding to the projection operators l and m respectively. If the rank(F) = constant and r = r(F) on M, then dim $D_l = r$ and dim $D_m = n - r$ [5, 7].

Proposition 1.2. Let M be the general quadratic manifold. Then

$$Fl = lF = F, \quad Fm = mF = 0 \tag{4}$$

$$\frac{F^2 + \alpha F}{\beta} = -l, \quad \frac{F^2 + \alpha F}{\beta}l = -l, \quad \frac{F^2 + \alpha F}{\beta}m = 0.$$
(5)

Thus $\left(\frac{F^2+\alpha F}{\beta}\right)^{\frac{1}{2}}$ acts on D_l as an almost complex structure and on D_m as a null operator.

Proof. In the view of Equation (1), the proof is trivial.

2 Nijenhuis tensor

Definition 2.1. If X, Y are two vector fields in M, then their Lie bracket [X, Y] is given by [5]

$$[X,Y] = XY - YX. (6)$$

The Nijenhuis tensor N(X, Y) of F satisfying Equation (1) in M is expressed as follows

$$N(X,Y) = [FX,FY] - F[FX,Y] - F[X,FY] + F^{2}[X,Y],$$
(7)

for every vector field X, Y on M.

We state the following proposition [8]:

Proposition 2.2. A necessary and sufficient condition for the general quadratic structure F to be integrable is that N(X,Y) = 0 for any two vector fields X and Y on M.

3 CR-structure

Let M be a differentiable manifold and $T_c M$ its complexified tangent bundle. A CR-structure on M is a complex subbundle H of $T_c M$ such that $H_p \cap \bar{H}_p = 0$ and H is involutive, i. e., for complex vector fields X and Y in H, [X, Y] is in H. In this case we say M is a CRmanifold. Let F be the general quadratic integrable structure satisfying Equation (1) of rank r = 2m on M. We define complex subbundle H of $T_c M$ by $H_p = \{X - \sqrt{-1}FX, X \in \chi(D_l)\}$, where $\chi(D_l)$ is the $\wp(D_m)$ module of all differentiable sections of D_l . Then $\operatorname{Re}(H) = D_l$ and $H_p \cap \bar{H}_p = 0$, where \bar{H}_p denotes the complex conjugate of H [5].

Proposition 3.1. Let $P, Q \in H$, then we have

$$[P,Q] = [X,Y] - [FX,FY] - \sqrt{-1}([X,FY] + [FX,Y]),$$
(8)

for every vector field X, Y on M.

Proof. Consider $P = X - \sqrt{-1}FX$ and $Q = Y - \sqrt{-1}FY$. Then we have

$$[P,Q] = [X - \sqrt{-1}FX, Y - \sqrt{-1}FY]$$

= [X,Y] - [FX,FY] - $\sqrt{-1}([X,FY] + [FX,Y]).$

Proposition 3.2. If the general quadratic structure satisfying Equation (1) is integrable, then we have

$$(F + \alpha I)([FX, FY] + F^{2}[X, Y]) = -\beta l([FX, Y] + [X, FY]),$$
(9)

for every vector field X, Y on M.

Proof. Since N(X, Y) = 0, from (7) we obtain

$$[FX, FY] + F^{2}[X, Y] = F([FX, Y] + [X, FY]).$$
(10)

Operating Equation (10) by $\frac{F+\alpha I}{\beta}$, we get

$$\frac{(F+\alpha I)}{\beta}([FX,FY] + F^2[X,Y]) = \frac{(F^2 + \alpha F)}{\beta}([FX,Y] + [X,FY]).$$
(11)

Making use of Equation (2), we obtain

$$(F + \alpha I)([FX, FY] + F^{2}[X, Y]) = -\beta l([FX, Y] + [X, FY]).$$
(12)

This completes the proof.

Theorem 3.3. The following conditions are equivalent

$$\begin{array}{ll} (i) & mN(X,Y) = 0, \\ (ii) & m[FX,FY] = 0, \\ (iii) & mN\left(\frac{F^2 + \alpha F}{\beta}X,Y\right) = 0, \\ (iv) & m\left[\frac{F^2 + \alpha F}{\beta}FX,FY\right] = 0, \\ (v) & m\left[\frac{F^2 + \alpha F}{\beta}lFX,FY\right] = 0, \end{array}$$

where X and Y are vector fields.

Proof. We have to show that (i) \iff (ii). Let mN(X,Y) = 0. Then in the view of Equation (7), we have

$$mN(X,Y) = m[FX,FY] - mF[FX,Y] - mF[X,FY] + mF^{2}[X,Y].$$

Since mF = 0, we have mN(X, Y) = m[FX, FY]. Since mN(X, Y) = 0, then m[FX, FY] = 0. 0. Thus, mN(X, Y) = 0 if and only if m[FX, FY] = 0.

 $(ii) \iff (iii)$: Let m[FX, FY] = 0. Then in the view of Equation (7), we have

$$\begin{split} mN\Big(\frac{F^2 + \alpha F}{\beta}X, Y\Big) &= m\Big[\frac{F^2 + \alpha F}{\beta}FX, FY\Big] - mF\Big[\frac{F^2 + \alpha F}{\beta}FX, Y\Big] \\ &- mF\Big[\frac{F^2 + \alpha F}{\beta}X, FY\Big] + mF^2\Big[\frac{F^2 + \alpha F}{\beta}X, Y\Big]. \end{split}$$

Since, $\frac{F^2 + \alpha F}{\beta} = -l$, mF = 0, then above equation becomes

$$mN\left(\frac{F^2 + \alpha F}{\beta}X, Y\right) = m[-lFX, FY] = -m[FX, FY]$$
 as $lF = F.$

Since m[FX, FY] = 0, then we have

$$mN\bigg(\frac{F^2 + \alpha F}{\beta}X, Y\bigg) = 0$$

Thus, m[FX, FY] = 0 if and only if $mN(\frac{F^2 + \alpha F}{\beta}X, Y) = 0$. (*iii*) \iff (*iv*): Let $mN(\frac{F^2 + \alpha F}{\beta}X, Y) = 0$. Using mF = 0, then we have

$$mN\left(\frac{F^2 + \alpha F}{\beta}X, Y\right) = m\left[\frac{F^2 + \alpha F}{\beta}FX, FY\right] = 0,$$

whence $mN(\frac{F^2+\alpha F}{\beta}X,Y) = 0$ indeed implies $m[\frac{F^2+\alpha F}{\beta}FX,FY] = 0$. (*iv*) \iff (*v*): Let $m[\frac{F^2+\alpha F}{\beta}FX,FY] = 0$. Using lF = F, Fm = 0, then we have

$$mN\left(\frac{F^2 + \alpha F}{\beta}lX, Y\right) = m\left[\frac{F^2 + \alpha F}{\beta}lFX, FY\right] = m\left[\frac{F^2 + \alpha F}{\beta}FX, FY\right], \quad \text{as} \quad lF = F.$$

 So

$$m\left[\frac{F^2 + \alpha F}{\beta}lFX, FY\right] = m\left[\frac{F^2 + \alpha F}{\beta}FX, FY\right], \quad \text{as} \quad m\left[\frac{F^2 + \alpha F}{\beta}FX, FY\right] = 0$$

and

(v)

$$m\left[\frac{F^2 + \alpha F}{\beta}FX, FY\right] = 0 \quad \text{implies} \quad m\left[\frac{F^2 + \alpha F}{\beta}lFX, FY\right] = 0.$$

$$\iff (i): \text{ Let } m\left[\frac{F^2 + \alpha F}{\beta}lFX, FY\right] = 0. \text{ Making use of (2) and (3), we obtain}$$

$$m[-l^2FX, FY] = 0, \quad -m[lFX, FY] = 0', \quad m[FX, FY] = 0, \quad \text{as} \quad lF = F$$

Since mN(X, Y) = m[FX, FY] = 0, we have mN(X, Y) = 0. Thus, $m[\frac{F^2 + \alpha F}{\beta} lFX, FY] = 0$ implies mN(X, Y) = 0. This completes the proof. M. N. I. Khan, L. S. Das: On CR-Structures and the General Quadratic Structure 253

Proposition 3.4. If $\left(\frac{F^2+\alpha F}{\beta}\right)^{\frac{1}{2}}$ acts on D_l as an almost complex structure, then

$$m\left[\frac{F^2 + \alpha F}{\beta}lX, FY\right] = m[-X, FY] = 0$$
(13)

for every vector field X, Y on M.

Proof. From Equation (5), we know that $(\frac{F^2+\alpha F}{\beta})^{\frac{1}{2}}$ acts on D_l as an almost complex structure then Equation (13) follows in an obvious manner. To prove that $m[\frac{F^2+\alpha F}{\beta}lX, FY] = 0$, by using the formula [X, Y] = XY - YX where X, Y are C^{∞} vector fields and Equation (5), we obtain Equation (13).

Proposition 3.5. For $X, Y \in \chi(D_l)$, we have

$$l([X, FY] + [FX, Y]) = [X, FY] + [FX, Y].$$

Proof. By Definition 2.1, we have

$$[X,Y] = XY - YX.$$

Now,

$$l[X, FY] = l(XFY - FYX) = X(lFY) - (lF)YX$$

= XFY - FYX, as $lF = F$, using Equation (4),
= [X, FY].

Similarly, l[FX, Y] = [FX, Y]. Hence,

$$l([X, FY] + [FX, Y]) = [X, FY] + [FX, Y]. \square$$

Theorem 3.6. The integrable general quadratic structure satisfying Equation (1) on M defines a CR-structure H on it such that $\operatorname{Re} H \equiv D_l$.

Proof. To prove the general quadratic equation satisfies Equation (1) defines CR-structure on M it suffices to prove $[P, Q] \in \chi(D_l)$.

From Equation (8), we have

$$[P,Q] = [X,Y] - [FX,FY] - \sqrt{-1}([X,FY] + [FX,Y]).$$
(14)

Now,

$$\begin{split} [P,Q] - \sqrt{-1}F[P,Q] &= [X,Y] - [FX,FY] - \sqrt{-1}([X,FY] + [FX,Y]) \\ &- \sqrt{-1}F([X,Y] - [FX,FY]) - F([X,FY] + [FX,Y]). \end{split}$$

Making use of Theorem (3.5) and Equation (9), we obtain

$$[P,Q] - \sqrt{-1}F[P,Q] = [X,Y] - [FX,FY] - \sqrt{-1}\left(\frac{F+\alpha I}{-\beta}\right)([FX,FY] + F^2[X,Y]) - \sqrt{-1}F([X,Y] - [FX,FY] - \sqrt{-1}\left(\frac{F+\alpha I}{-\beta}\right)([FX,FY] + F^2[X,Y])).$$

By definition of CR-structure, we have $[P,Q] \in \chi(D_l)$. This completes the proof.

Definition 3.7. Let \tilde{K} be the complementary distribution of $\operatorname{Re}(H)$ to TM. We define a morphism of vector bundles $F: TM \to TM$ given by F(X) = 0 for all $X \in \chi(\tilde{K})$, such that

$$F(X) = \frac{1}{2}\sqrt{-1}(P - \bar{P})$$
(15)

where $P = X + \sqrt{-1}Y \in \chi(H_p)$ and \overline{P} is a complex conjugate of P [5].

Corollary 3.8. If $P = X + \sqrt{-1}Y$ and $\bar{P} = X - \sqrt{-1}Y$ belong to H_p and $F(X) = \frac{1}{2}\sqrt{-1}(P - \bar{P})$, $F(Y) = \frac{1}{2}(P + \bar{P})$ and $F(-Y) = -\frac{1}{2}(P + \bar{P})$, then F(X) = -Y, $F^2(X) = -X$ and F(-Y) = -X.

Proof. On using Definition 3.7, we have

$$F(X) = \frac{1}{2}\sqrt{-1}(X + \sqrt{-1}Y - (X - \sqrt{-1}Y)) = \frac{1}{2}\sqrt{-1}(2\sqrt{-1}Y),$$

$$F(X) = -Y.$$
(16)

Applying F to both sides of Equation (16), we obtain

$$F(F(X)) = F(-Y).$$
 (17)

But

$$F(Y) = \frac{1}{2}(X + \sqrt{-1}Y + X - \sqrt{-1}Y),$$

which on simplifying gives F(Y) = X. Also,

$$F(-Y) = -\frac{1}{2}(X - \sqrt{-1}Y + X + \sqrt{-1}Y) = -X.$$
(18)

Combining Equations (17) and (18), we get $F^2(X) = -X$.

Theorem 3.9. If M has a CR-structure H, then we have $F^2 + \alpha F + \beta I = 0$ and consequently the general quadratic structure is defined on M such that the distributions D_l and D_m coincide with $\operatorname{Re}(H)$ and \tilde{K} respectively.

Proof. Suppose M has a CR-structure on M. Then in view of Definition 3.7 and Corollary 3.8 we can write [5]

$$F(X) = -Y. (19)$$

Operating Equation (19) by $\frac{F+\alpha I}{\beta}$, we get

$$\frac{F+\alpha I}{\beta}F(X) = \frac{F+\alpha I}{\beta}(-Y) = \frac{F(-Y)+\alpha(-Y)}{\beta}$$
$$= \frac{-X-\alpha Y}{\beta} = \frac{-X+\alpha F(X)}{\beta}, \quad \text{as} \quad FX = -Y,$$
$$= \frac{F^2(X)+\alpha F(X)}{\beta}, \quad \text{as} \quad F^2X = -X,$$
$$= \frac{-\beta X}{\beta}, \quad \text{as} \quad F^2 + \alpha F + \beta I = 0,$$
$$\frac{F+\alpha I}{\beta}F(X) = -X,$$
$$(F+\alpha I)F = -\beta I.$$

Hence, $F^2 + \alpha F + \beta I = 0$.

Acknowledgement

The authors would like to thank the referee for his valuable remarks and suggestions which helped to improve the manuscript.

References

- A. BEJANCU: CR submanifolds of a Kaehler manifold. I. Proc. Amer. Math. Soc. 69(1), 135–142, 1978.
- [2] A. BEJANCU: Geometry of CR submanifolds. D. Reidel Publishing Co., Dordrecht, 1986.
- [3] D. E. BLAIR and B. Y. CHEN: On CR-submanifolds of Hermitian manifolds. Israel J. Math. 34, 353–363, 1979. DOI: https://dx.doi.org/10.1007/bf02760614.
- [4] B. Y. CHEN: Geometry of submanifolds. Marcel Dekker, New York, 1973.
- F^K + [5] L. S. DAS: OnCR-Structures and*F*-*Structure* Satisfying $(-)^{K+1}F$ 0. = Rocky Mountain J. Math. **36**(3), 885–892, 2006.DOI: https://dx.doi.org/10.1216/rmjm/1181069434.
- [6] S. DRAGOMIR, S. M. H., and F. R. AL-SOLAMY: Geometry of Cauchy-Riemann Submanifolds. Springer, Singapore, 2016.
- [7] M. N. I. KHAN: Complete and horizontal lifts of Metallic structures. Internat. J. Math. Comput. Sci. 15(4), 983–992, 2020.
- [8] B. B. SINHA and R. SHARMA: On a special quadratic structure on differentiable manifolds. Indian J. Pure Appl. Math. 9(8), 811–817, 1978.
- K. YANO and M. KON: Differential Geometry of CR-submanifolds. Geom. Dedicata 10, 369–391, 1981. DOI: https://dx.doi.org/10.1007/bf01447433.

Received July 27, 2020; final from October 26, 2020.